FH2 6 FEEEI 1 EFFFBRKKI T > FHEBEXE XFHE—ER
2014/05/31 ~ 2014/05/31
2%
14iz 243 31 AfL 543 613 7ML 8L
BHEF BlIXs J2| $H BfE 53 EIEFAHN 52| FTEEEE =1 B Bt 52| EEHF X 52 WE RA 52| BR LA &2
50m BEX HRME—%F KER RER BEX HlrE SLHEF BEX
A LR 27.10 27.32 2758 27.60 27.74 27.94 27.94 27.94
(F164E) (F1641)
HikE R £E 33 B2INXS B2 HO HE 23| FHF EE 852 £F 2Ex 51| FE KRE =3 BIR E=H =3 EEBEWANE =3
50m BEX BEX TEBRfER TERRfER HMEZE FEZE BEX BEX
A LR B 29.68 29.99 30.03 30.29 30.34 30.41 30.41 30.88
(F164E)
FEkE BIO £k B3| AF WE 832 WEEFoF B2 X BE 852 BHE #®F =2 MHEHEED =3 B&R M 52 FHIMEEX =2
50m BEX BEX K1t TERRfER HMEZE FEZE AKER FEZE
A LR 32.70 33.34 34.07 34.61 34.76 34.94 34.99 35.06
NEI5A BH BE 52| TEEEHE 51| S8 DA 52 HE RFE 52 BEH Cx 52| HO HE O S3| BEE =%k 52 AP KR &3
50m BEX RER BEX SLHE HlrE TERRfER HE BEX
A LR B 28.05 29.08 29.26 29.32 29.46 29.57 29.58 29.65
JyL— BEX = 25 = ERERX 5 FE2E B Mo B | HNE—%F 5 HE = KER =
200m | HEB @t B2 FR B B FH EEX B2 FHHEE B2 HK EX 52 H#HHF £EF B2 EH —XE 72| EIFHAH =2
AALREE BR WA B2 FE =W F1] AL X B3 FE KE 53 EFEH XA 23| £H Ex 33 AF FB &2 B B &2
BIXE &2 WA B 51| REEMF 52 w0 & B3 FA B 53 HFH OB OS2 EH OB 51| WA XE 52
xR WE B2 A& FTE OB O X% 32 kE B 0 52 #MehE: =1 H BE =3 FR & =1 BEIEFK =2
1:48.74 Fin. 1:51.01 Fin. 1:51.91 Fin. 1:53.33 Fin. 1:54.08 Fin. 1:54.29 Fin. 1:54.36 Fin. 1:54.38 Fin.
27.86 1st. 28.48 1st. 28.57 1st. 28.17 1st. 29.55 1st. 29.10 1st. 28.53 1st. 27.55 1st.
ARL—1L— BEX = ERERX 5 25 = FEZE =B HEZE 5 3 B | EME-xF 5 AKER =
200m | RE E£E B3 FH EE B2 GHALEA B2 BFE KX B3 £F B2Ex S| WE BAF S| ¥FH BE B3 IR B S
AALRBE B0 £k B3 X BE 852 ZR G 52 MHEHEED B3 BHE #®FE 52 TEAGH =2 HEHF EF OS2 BR M =2
BIXE &2 #F#F #hF =2| WA BAE 51 w0 # 2 53 &8H #FF 51| WKW ¥ 52| HFH OB 052 TEEERE =1
A% BE 32 HO BE 33| & FE =1 FHHEE J2 BL %$ 53 KAREYD S| TH B8 53 BEHBEFEE 51
1:56.81 Fin. 2:02.76 Fin. 2:03.15 Fin. 2:03.25 Fin. 2:03.79 Fin. 2:04.28 Fin. 2:05.90 Fin. 2:06.27 Fin.
30.10 1st. 30.53 1st. 32.50 1st. 30.28 1st. 30.54 1st. 32.57 1st. 34.16 1st. 33.71 1st.




FrE2 6 FEE3 1 AFEEBKKI T > FBREXR
2014/05/31 ~ 2014/05/31

BFRE—EX

RiF
14iz 243 31 AfL 543 613 7ML 8L
BHEF Bl & =3 KA EE 53 BAR Ht =3 K& x B3 NI EE B2 HA =T S| A BX 32| Bk F#HE &3
50m BEX B 375 ma)ing BEX HE BEX BEX FEZE
A LR 23.86 24.37 24.37 24.42 2450 24.62 24.64 24.70
(F1241)
EHikE Nk BX =2 )ik 28 52 RESEA =3 #4X @t 53 Bk #E 53] L #1F 53] & K 52| Al BF =1
50m BEX HE 3 ma)in FEZE BEX HE N
A LR B 25.69 25.96 26.08 26.70 26.95 27.32 27.59 27.71
FEkE wH E# 53 KA BEE =3 EE BA 52 FE Bt 52 AH B% =3 WX Bt 53 NE #F 33 SH HE =3
50m BEX B 375 TERRfER =S| nmode ST RE RFE#E FEZE
A LR 28.57 29.99 30.01 30.08 30.24 30.44 30.44 30.54
(F164L)
NEI5A BNl & =3 EEZEA 53 TH M 52 k¥ x B3 &E# £=E B3 & BRA 52 AE FE B1| ME gt 52
50m BEX 3 BEX BEX 25 TERRfER BEX BEX
A LR B 25.24 25.47 25.88 26.07 26.08 26.11 26.21 26.30
JyL— BEX = FEZE 5 HE = ExExX =B BIHEM 5 ma)ing = MBEHE 5 Bk =
200m | FHE HE B2 FExk #HE B3 Jm RE B2 B R# =3 A EE =3 BA Ht =3 BEAX B =2 M fE &3
AALREE TEEL B OS2 BH KT &3] #EH OB 52 BH HE &2 HLE B 32 kA K B3] AKX Fth FH3) HH TFX &3
EH A 52| K ZR 52| £ XKE =2 #I HEKXK =3 /NE EF 52 #HXx B 52 H@EF-H 51| RHE AKX &3
Bl B8 B3] Al B’z B2 BEX BX =21 BF HE =3 =TI OFETE 53 keARBE 53 EE BXx 51| KB EE =22
1:36.17 Fin. 1:37.82 Fin. 1:38.08 Fin. 1:39.05 Fin. 1:39.16 Fin. 1:39.65 Fin. 1:39.90 Fin. 1:40.16 Fin.
2452 1st. 24.47 1st. 24.63 1st. 25.03 1st. 24.32 1st. 24.29 1st. 24.86 1st. 25.18 1st.
ARL—1L— BEX = ERERX 5 BIHEM 5 25 = MBEHE 5 ma)ing = R = 3 =
200m| WEE BAX B2 =BEZEt 52 =2 &} B2 BB X 52 &E=ZE BXRX =1 BX #Ht =3 0F £FHE =3 #EE E 52
AALREE NN BE B3 &FE BRA 52 FE OBt 52 FH EF S| 0K Fth B3] U XA &3 kiE 15 &3 REH BE &1
Al B B3| #I BE 51| FHEBz2N 53 = =R 53 TEFH =1 NEEARE =1 HE #X 52| EEZEAN =3
HE HE =2 AH#H B8 52| KA HE 53 K AR =220 AR B 52 ®B4KBE 53] HA EA 53 ZEBZ2H =1
1:41.68 Fin. 1:48.05 Fin. 1:49.39 Fin. 1:49.81 Fin. 1:50.08 Fin. 1:50.14 Fin. 1:51.25 Fin. 1:52.28 Fin.
(K=
25.58 1st. 28.46 1st. 28.87 1st. 28.64 1st. 29.22 1st. 27.17 1st. 28.36 1st. 29.72 1st.
(K£9) 1st.




